AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2012
CLASS: Il

Time : 2 Hours / 3<% ¢ & 6t Full Marks / & <2 / (315 =4 3 (30+30+40)=100

General Knowledge / A4 @I« / ALl @i

1 Aviolin has ................... number of strings.
SIEIC TG e O QM |
SIRITE .o T or A |
(a) Two (b) Three (c) Four (d) Five
v fofey / fom RISWRTES Gl
2. 'Sundarban'is famous for ...............
B 6 T AR e |
B G Gy e |
(a) Lion (b) Tiger (c) Crocodile (d) Monkey
e M e DI
[ENeS I PN A

3. Which of the following is called the 'Red Planet' ?
T (PG RS TGl AR (N R 2
S (I (P T 8% <@l = 2

(a) Mercury (b) Jupiter (c) Saturn (d) Mars
Bl s =ify Bl
4. Find out the odd one :
RIRGORSIERCI G I
e (@02 TS 3

@ |V ®) | VV © [ AAA @ | VVV

5. 'Kapow Phul' used by Bihu Dancers comes from a type of .............
TR AR TR TN o AP LN |
e TEIE TR T N TN G AP v |
(a) Herb (b) Shrub (c) Orchid (d) Creeper
9l & SiEaY] ol

6. The fourth oil refinery of Assam is in the district of .............

REERRCR RAco NI ECI RIS IG— feretrs e |

SR 5O (O LI ... (ST QS |

(a) Golaghat (b) Tinsukia (c) Bongaigaon (d) Kamrup
CoeTIAIG fofapdra / foifea <migelie IS / BT
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7.  Which one of the following is not an insect-borne disease ?
T (PINCE! 2Io5 AN oM (@19 7% 2
O (P S (05 (A RO Al 2

(a) Malaria (b) Typhoid (c) Dengue (d) None of these
CCETSI BEEN (o5 @ble =H
R IGIEE] BESFEN] (% Qe T

8. In the film 'Chillar Party', Bhidu is a ...............
“oetia #I16 et 2o e @ ... |

‘oot S5 2fRCe IE @M ..o |

(a) Cat (b) Dog (c) Mouse (d) Rabbit
Sl T a7 “RI%H
fagreT I gl o

9. The normal body temperature of a human beingis ................
WA (TR D ST TS R ... |

NFAEERS D TSP O] o ... |
(a) 96°F (b) 97.4°F (c) 98°F (d) 98.4°F
10. 'Kuch Meetha Ho Jaye' is the punchline of .............
“Z o1 T SR CAIAIIE! =19 (I ?
(a) Cadbury (b) Nestle (c) Amul (d) Parle
CavaH]] TR Sl et
PR AT Rl gl

11. The number of stanzas in the National Anthem 'Jana Gana Mana'is .............
BT RS “Tr-51-5 4TSS BRI HAT ...
BT ARG T-51-T SIS BAGRR HLT.o....c.o
(a) 3 (b) 4 (c) 5 (d) 6

12. If 'Tokyo'is in Japan then 'Oslo' is in
I TFS T (OERE A S 2
I ‘PG’ ST, O SHE (P 2

(a) Cuba (b) Canada (c) Nigeria (d) Norway
[SaCen| Baniiv)] CIEUSIRE) &
S| PG CIEUSIBE TS
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13.

14.

15.

16.

17.

18.

(3)

The country that won the football world cup for the most number of times ...................

R AR G PR NIIEEIRIEC IS | (6 M N S e I—

SN &5 R FHIET ST RGN O oo

(a) Argentina (b) Brazil (c) ltaly (d) Germany
ST gifereT Bl St

Find out the correct order according to the English Dictionary :

2GS @ S g7 TG!St ¢
BRG] SAMSHI TN S w7 Ted MRS 9 ¢

(a) Rainbow, Railway, Rabbit, Rabies (b) Rabies, Rabbit, Rainbow, Railway

(c) Rabbit, Rabies, Railway, Rainbow (d) Rabies, Rabbit, Railway, Rainbow

What word is used to describe signature given by the celebrities to their fans ?

CRfeTRIGHPET ST ST T T TP o il

ciferfafbora st SRIMER (R FFAED T & |

(a) Monograph (b) Biograph (c) Autograph (d) Polygraph
e qlciare RIoRiIES o{feTalee
ISR ISP Sabied sifersirze

The festival ‘'Maghow-Domasi' on the day of Makar-Sankranti is celebrated by ...............

TP IR MAS AT AAMG B ATTTT B oo I |

WL IR U NCH-WNIRT S Al A ... Bl

(a) Missings (b) Bodos (c) Karbis (d) Dimasas
fafbe el I R
EIKN ol I IR

The given picture is the logo of / wT® Xl el B! FF 2 / NG (T8 2ARSIF b O 2

(a) Reliance (b) Aircel (c) Idea (d) Vodafone
eIy GRINGT NIEUCE (OO
TSt G NSk COTCIFI

We use power saving CFL electric bulbs. What does CFL stand for ?

e e Tz R o[1 5 @% @a1 (CFL) Irga syl T f 2
e =ife 7 1 BT @F @57 (CFL) regs ) 9t <5 2

(a) Compressed Fluoroscent Light (b) Compressed Fluoroscent Lamp
PTG FACTH #1126 PAETC FACTD (T

(c) Chloro Fluro Lamp (d) Chloro Fluoroscent Light
FIET @ T FIED L%

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)



http://www.novapdf.com
http://www.novapdf.com

19. 'World Environment Day' is observed on .....................

e It @ SN 91 73 |/ ey oif e <ot AT 91 & |

(a) 5" February (b) 10" April (c) 5" June (d) 10" December
¢ (FEINS o @fefeTs ¢ TS so TorERe
¢ CFPEHRICS Yo @feeE &al o form™E

20. The Ahoms established their first capital at ..................
SRR e ST 2/ANCS B2 Ffloe] / SR st e /= B 6 8

(a) Rongpur (b) Charaideo (c) Bengmora (d) Patkai
RIS BRIEGOS (IS AGFIES
WA PRIB G (IS AGFIZ0S

21.  Onthe occasion of the Republic Day in 2012 Dr. Bhupen Hazarika was honoured with ................
SITOIfEe T, 2053 T° G SRS T (FIC6T SAfHCT s w1 =% 2
SO M7, 2033(T T Gof RGHFTF NB (FIF TAMCS Feifae w1 =7 2
(a) Bharat Ratna (b) Padma Bibhushan (c) Padma Bhusan (d) Padmashree
CRICACIACIEICE GEINCEL] TG STl

22. Which of the following age-group is covered under the Educational Programme of
‘Sarba Siksha Abhijan Mission'
T (I TR T RN SR SIS o Sege 9 (=202 2
A (P TER (RCET-WREE TR SIS i a9 S&kie (e 2RI0R ?

(a) 4to12 (b) 6to 12 (c) 6to14 (d) 6to10
89 Al R b g A9 SR CIC BN I Y g A9l So
8 CACP S Y (R SR Y CACP 58 Y (A So
23. Lal Bahadur Shastri was laid to rest for everin ................
STOTRIRIGS SIFER I e T Gl AR |/ SR STE ITTRET o I S 0 |
(a) Virbhoomi (b) Vijay Ghat (c) Ektasthal (d) Raj Ghat
el / Aol IREERIT QST G / ASTH6
24. Sillicon Valley of India is :
O] RfeTee Tood 25T ... | BIRIeR AT CoeTl ZoT ...
(a) Bangaluru (b) Pune (c) Hyderabad (d) Coimbatore
JIAERE / ARATERE S/ S SRURM PEEHGE / (PIRHIGI

25. The Pakistani counterpart of Dr. Manmohan Singh is

T TR PR-F NS oMM / ©° e PRER A« smamg

(a) Parvez Musharraf (b) Asif Ali Zardari
QNSRRGSR e o] Sl
(c) Yousuf Raja Gilani (d) Imran Khan
209z qret oA I A
G e ol B A
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26. Howrah in Kolkata is famous forits .............
FAPIOR RISl 729 IR [RAMS 7 /| TR0 €T [FER & [ 2

(a) Bridge (b) Cotton Mill (c) Metro Station (d) Book Stores
LGN o foeT GG (3 el (el
(&i15) 67 foret I Co=i TR AP

ES

27. 'Classmate' notebook is a product of .................

PIRED A (P (PPN AT 2 / FOEE ATST (B (@ AT 2

(a) Indian Tobacco Company (b) Hindustan Unilever Limited
ST B! AT e 2offeTeR feTfEe
BFOH BRIP PN e 2effeTele ferfee
(c) Indian Paper Corporation (d) None of these
S (oo o o «bre 8T
BT (IR FHE=T G387
28. Indian constitution came into effecton .............
SITOT IR T TR T |/ SIS SRR TTAL TR BT oo
(a) 15" August, 1947 b) 26" January, 1947 (c) 15" August, 1950 (d) 26" January, 1950
S¢ %8 35849 2 SIS 5584 S¢ S8 35¢0 2 GEIET $5¢0
S¢ 918 589 2 ST 9584 5¢ 918 Sveo 2 G Sveo
29. In India population census is conducted after every................
OO @I &ffo ... 960 27 | / ORI ETpsiae] if ................... o I 2F |
(a) 5 Years (b) 8 Years (c) 10 Years (d) 12 Years
@ T v 29 o I»Y 5 IRY
¢ 9999 b 999 Yo 99 SR I
30, Goswami is popularly known as Mamoni Raisom Goswami
.................................. oI S T75o (ol f25ies &l J1™
........................... COFFIIGS S TRET GRS = & [
(a) Sarojini (b) Nirupoma (c) Indira (d) Sudakshina
i st el S fpel

General Science / Figi <&@l / FAigige i

31.  Which of the following is not true about living things ?

T (PG TR (FaS NG 7= 2 / NS (FHD SIE@F CF@ Moy 77 2

(a) Living things feel (b) Living things need food
(c) Living things grow old and die (d) Living things do not reproduce
G I @98 9y IR G e 23 A1

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)



http://www.novapdf.com
http://www.novapdf.com

32.

33.

34.

35.

36.

37.

Insects breathe through ..................oe.

HAGTE .o J IRITS THIR-fI1Z 77 |

£ L — R (7 |

(a) Skin (b) Nose (c) Spiracles
Bl < Eecall
e P PSR

New plants are grown from ................

......................... T I TG TBW oI |

DICT AT 3 S CACP ST |

(a) Stem (b) Seeds (c) Leaves
IS et SIS
IS et o]

Which of the following is a living thing ?

T (I SIS 2

N7 @G @F TR G 2

(a) Rocks (b) Water (c) Seed
LGl AT et
N ST et

Which of the following does not swallow its food whole ?

T (PINCGIE CollebR Wy foifet iy 2
O P &A1 [ AR QAR BT =l 2

(a) Plants (b) Animals (c) 'a'and'b’
S S 2’ A b
Sfgw K] 'a' @< 'b'

Which of the following animals does not lay eggs ?

ST (FIACE! 2N S FIATC 2

T IF N BT 1T 1 2

(a) Snake (b) Crocodile (c) Frog
i RISEIG CoFA
i PR e

(d)

Gills

All the above
NIDER&ET]
AN

None of these
Qole =Y
aQ3H8 7

4

None of these
Qole =Y
aHe 7

None of these
@Qble =Y
aQ3hHe 7
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(7)

38. Which of the following statements is false ?

TR (F! fe gl 2/ Movd @ Sfefs faey 2

(a) Bats are mammals (b) Birds fly in forward direction only.
et TSI BAIR (P AT TG AT
R AT AN By ATNER U o ATE

(c) Sparrows fly at low heights (d) Swans are water birds
T Bl T There B R GreTb] bR
FOTEAT ) THOR BT SR ST A1

39. The tail of a bird helps it to .......ccoeeeenneen.

PRIES KO [CIEHIC — R P |

AT (TS BRICP oo AR T |

(a) Fly fast (b) Fly slow (c) Fly high (d) Change direction
CRIERCNIY SR IR OqIo T THONS TS sl STl o

40. Which of the following is a seed containing stored food ?
T (PG Ty s (7 A6l @fb e 2
N @A A AfPS 2@ A QP et 2

41. Which of the following gases is not released by the leaves of a plant ?
T (PIFIRY (517 5129 “Te] 2«1 fysfo 7=y 2
R I &7 2AMRT Ao (@ Fsfe 27 1 2

(a) Carbon di-oxide (b) Oxygen (c) Nitrogen (d) Water Vapour
PR TIR-S[H2G SISCST I2F0ST SRIRAC kel
PR TIZ-II2G SISHCST 125 [SEIRC ]

42. Which of the following is a natural part of soil ?

R (PG WoT Ao ol 2

Nod G Mbw @b elipfos SofmiT 2

(a) Paper (b) Humus (c) Plastic (d) Fertilizers
PlorST 2@y Gl kS
loret IRtk e EIEsS

43. If you want to grow plants in your garden, what is the best soil to use ?
Tl O (O RIS Gr&el 517 Besiw FR b1, (o O T (@G Wi O A THYE =7 2
Tt O COMIF F9IE 4IRS B8, SIRET AR (FIF A TBIE© G2 B ?

(a) Sand (b) Loam (c) Clay (d) Gravel
BRI STl Sisal Ty
ifer A Il REl
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44.

45.

46.

47.

48.

49.

(8)

Which of the following is not a property of air ?

ST (PICBT T 4 =T 2

NS (I A 4 77 2

(a) Air occupies space (b) Air exerts pressure
IR BT ST AE <A b1l e
Y E e B TS BIS AR

Water has ...................

(a) Fixed shape (b) No fixed shape
e wreie T ke e w12
fafee Sioiw o e =i 72

(c) No weight
GG 2
QG (2

(c) Air has no mass (d) Air can not be seen

SIERESAGIACS OIS IER QIR SRR
R (I ©F (12

A P 2R I

Strong smell
ICRNQIE R[]
Bsl i (R

If sweating increases, it means that the humidity of the place ...................

T T @R 2, (ST CT2 912 AWOG ...
T W QT 2, OIRET (18 FET AMONS ..........
(a) has also increased (b) has decreased
qifex hE
MO PAE

(c) isconstant

aF ]
a3 R

Which of the following is cooler than the others ?
ST (PG SAFGIS I 2
e @Al SoRFaa gemw orel 2

(a) Landbreeze (b) Seabreeze (c) Botha &b

NIV el qOIR a < b Ty
oY STy a @<k b TeEE
In a full moon ...................
S (LI
£ | IAC

(a) The Earth lies between the sun and the Moon
S SRR T @8 BT W

(c) The Moon lies between the sun and the Earth
b, I O SRS Were A
SCUS SRER T @92 2{fAS W

Which of the following is a star ?

SIS (P! TG ?

Nod @ alo THa 2

(a) Sun (b) Moon
il v

(c) Earth

sffR ey

has become zero
hRIES
el 2

None of these
@Qole =Y
aQ3He a7

aorb

a [l b

a [ b
None of these
«bhe 2]
qoe T7

Comet

TR
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50. Which of the following is required by our body ?

TR (PO SN *<SIS A w2
(a) Oxygen (b) Urine (c) Sweat (d) Carbon-dioxide

51.  Which of the following organs takes in oxygen and gives out carbon-dioxide ?
T (PIFCG] B2 S 2129 PR S[F DI I2-W[2C Blorxiz e 2
AR (I S AFSH 220 PE @R PR T[2 SHET BT ?

(a) Kidneys (b) Lungs (c) Stomach (d) Small intestine
3= 28T AEAN Kk
S T A TG

52. Which of the following carries oxygen to all parts of the body ?
TR (FGIR *[RNS TBET L5 S FHAE g 2
T FG *RNET AT 20! /S I e 91 2

(a) Brain (b) Muscles (c) Blood (d) Nerves
BRI Cor it (o&T Y
B Cor it B Y

53. Which of the following is / are normally found in liquid state ?
ST (PINCET YOS 6T STES AT T 2
A PG TS ©LeT SRFF 2SN A 2
(a) Petrol (b) Mercury (c) Water (d) All of these
CofGeT SIS/ SAm AT/ ST TGIRRED! [ T

54. Which of the following is the best way to dispose of waste water ?
T (I A& A1 W w917 T8 T 2
TS ST WRIFT S TSN TATT 2T BRI o |

(a) Using it as drinking water (b) Using it as bathing water
CI=TT SAIT FZBIest TR 1 ST 2111 fZBTesT = 1
(c) Use it for watering plants (d) Letting it down flow
Tfgre FiibateT BRI 1 W =T el
Tfem (a7l & R IR 1 TR A<IRS 208 (e

55. Which of the following keeps moths and worms away from the clothes ?
T (IR PIAE CATP- AP 2 T3] B 2

FIAGCE CATF-OHAT MO CACP .o NIE]

(a) Naphthalene (b) Dry leaves of neem (c) Botha &b (d) None of these
TP A Y AT a o< b Ty @ore T
T | e a @< b 13 GEAICREE|
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56.

57.

58.

59.

60.

Terylene clothes are prepared from ...................

BT AT T 94 TS M ZF |

GERTT I ... (TP TS 1 7T |

(a) Cotton plants (b) Carbon compounds (c) wool of Sheep (d) All of these
1T 517 IS (el CSUR (I HIG1R (FRG!
I IR PR sl (ST TN P

Fire is a source of ...............ocoini

LS 5 |

1T 0 |

(a) heatenergy (b) light energy (c) botha&b (c) sound energy
o9 #fe N2 *ifie a I b Tex w7 #fe
ol =ifie TP *he a @8 b Toy *ar *ifie

To measure the weight of kerosene which of the following units is used ?

(PRI ST GRIFET K (PO GFF TR FI JF 2

FRIPIET ST [900 A3 (T @B IR I 2 2

(a) Kilogram (b) Litre (c) Celsius (d) Seconds
Rearams ferbr (ZTRZ (RS
TpeeTIas 1o COTeTTA OIS

With the help of the latest mobile phone services we can ............

GRS (VR1EST GRS B A ...

2o BIETH NRIZST G A S .o

(a) Check our bank account (b) Listen to radio
RIEISNC RS MRS I IR @ i oy
@A f2e fetiee i QT W@ R

(c) Shoot photographs and share them (d) All of these
B! ST AT < (IEToIF 37518 @l A1 GIE (FE!
FO! o 2l @3 S#kce 1R w1 o #iifs s)eafs

Pick the true statement :

Wz Bexs! A Slened s

@ Tedlb Afew 3 ¢

(a) Unit of volume is litre (b) Solid are easier to compress than gases
RIESSE RGeS AR I G RS ARG TGS TH
RSER GFF I FfoT T SNIEH bIE© = AFHe &

(c) Solids are easier to compress than liquids(d) All the statements are true
i T TRETSlE T=0S PO 2W IR S ey
o T ORI GRS T & SR Ty
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General Maths / 3t sifehe / st sifre

61. The greatest even number formed by the digits 3,2 and 1 using only once is ..............
3,2 TIF 1 T (FED! (P AR LRI FI R SABTESF NG Jo] FRICET e
3,2 @8 1 A TE BYAG AFT TR FE ANSTT FBIECS TG I FR o
(a) 321 (b) 312 (c) 213 (d) 132

62. Which of the following is equal to 104 x 50 ?
G (PG 104 x 50 T N ?
NoA I 104 x 50 @ ST9eT
(a) (100x50)+(4x5) (b) (100x5)+(4x50) (c) (100x50)+(4x50) (d) (100x50)+(40x50)

63. Binod is taller than Sonu, Rahul is shorter than Ravi but taller than Binod. Who is the tallest ?
T Yol @x, e IRSF b9 g Mol 8 26T GRS eY (P 2
TR S (U oTHl, =T R (AT T 6g e (A0 o791 | Ques Wy 51309 o711 (F 2
(a) Binod (b) Sonu (c) Rahul (d) Rauvi
NG & / 3] (e / e <fv /=f«

64. How many times the digit '3' appears in numbers from 1 to 100
19 #[€1 100 T SRS fFANGT '3 Mg 2
1 ¢ 100 ¥ 31T '3 FAIE ST 2
(a) 18 (b) 19 (c) 20 (d) 21

65. The difference between two numbers is 4,937. If the greater number is 30,451, What is the
smaller number ?
0Bl AT AET 4,937, [ TleF NG 30,451 R, (&F A< NGB! 6 2
i ST 2N 4,937, T 7@ 7MAG 30,451 =W, O (RGN 6 2
(a) 35,388 (b) 35,514 (c) 25,514 (d) 26,514

66. If you add 3 to 49 and then add 20 to the answer, what number would you get ?
49  =151® 3 (151 FRET BN T RN TR ©F #1518 20 ¢Fe] FIE 6 ¢oflan I 2
49 G AN 3 (9T FAET (T AT 1S IAF, OIF AN 20 19T [T PO ANSTT MK 2
(a) 99 (b) 81 (c) 72 (d) 69

67. There are 76 flowers in a garland. How many flowers are there in 7 garlands ?
QB! FETS 76 (AT FoT T 7 b1 (ST NeTrs 1 (ol o1 Qa2
@il W= 76 B FoT Qe 7 6 I o1 AP

(a) 76+7 (b) 76-7 (c) 76+7 (d) 76x7
68. In the multiplication example shown below, find the value of A ?

TS Wl {7 FS A T AT A 2/ b (@A o719 WLCF A G T FO 7

A3
x 5

215
(a) 1 (b) 2 (c) 3 (d) 4
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69. What is the missing term ?

1 oM 5 2 / 7Y oG @ 2
W
W oow
(b) 15 (c) 2

70. If the largest 3 digit number is divided by the smallest 2 digit number, then ...............
TSB! e fif*ig SIbIZSC TIgT AP oI B1e K@ SBIRS(TF A AL O] FRET . 29
o w1e {18 STb13ce I@ A 42 WL K8 1200 (=16 72 1 OIS FIRET ... ol

(a) 30 (d) 3

(a) Q=99, R=09 (b) Q =10, R = 99
SIS = 99, IS = 9 SIS = 10, Sl = 99
(c) Q=10,R =09 (d) Q=9,R =10
isiFeT = 10, SI9IE = 9 IS = 9, B9 = 10

71.  The product of two numbers is 476, If one number is 34, What is the other number ?
0BT AN SOl 476, O BT AT 34 R(ET WG AR fFI 2
qfb AR BT 476, A6 TR 34 RET A .o
(a) 104 (b) 14 (c) 24 (d) 44

72. What is the fraction of prime number in the given table ?
TS Al (GIeTa Py et GaNferss sfeam 2
N ST AT OGP SeH (Ffor<p AL 2
390| 51| 24| 36
35 (102( 30 | 17

2 15612939
3 1 7
@ > ) 3 © s @ 1
: : : : : 3
73. Which of the following fractions is equivalent to 3
3
ST (IR G T TG 2
3
DilCENCCBITACRI g G g 2
(a) 18 (b) 2 (c) 8 (d) 4
1 _ 3 _
74. |If Zth part is equal to 3, then Zth part is equal to .............
% 5 S ST 3 2, m%waﬂwﬂ ...................
M+ SREIF A 3 7F, ©@ %Wamwmm ...................
(a) 4 (b) 6 (c) 9 (d) 8
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76.

77.

78.

79.

80.

81.

(13)

Bl= o=

(b) % () & (d) 1

What is the fraction of boxes (|:|) in two rows ?
o1 19T 4l A ([ ]) SR R 2
it #10e AT AT SALA ... |

(@) % (b) (c) 3 (d) 1

How many 100 rupee notes make a sum of Rs. 1 lakh ?

A6 100 BRI (16 et 1 =113 b=pl =% 2

1 <7140 GBI 100 BI=PT CICHS AT ... |

(a) 10 (b) 100 (c) 500 (d) 1000

The total cost of 10 apples at Rs. 5 per apple and 6 oranges at Rs. 2.50 per orange is ...........
5 5351 ST 10 BT ST S 2.50 5361 SET 6 51 e 3 A 7 ...

5 Bl wiewg 10 6 Sieofet @2 2.50 Bi<l Wit 6 6 ST (16 Wl ...

(a) Rs. 55596 (b) Rs. 65 G5SI/5d (c) Rs. 100 G151 (d) Rs. 125 5=1/6r=l

750 paise + Rs 2.50 = Rs. .oiiiiiiiii

750 925 + 2.50 5B = ..o ol

750 AT + 2.50 O = oo oIl

(a) 753.50 (b) 10 (c) 9.50 (d) 11
A quarter of an hour = ..................... minutes

aF THR @F 5O = ..o, G

GO FHIT G BQUH = .. B3I

(a) 10 (b) 15 (c) 20 (d) 30

A train leaves P at 12:05 p.m. At what time will it reach town Q if the journey takes 1 hour and
57 minutes ?

QL (FETSTET 7R 12 <ifer 5 [WiAEe P o[l Ti@l i<t 31 e Q #1<es! qfw @ T1@rs 1 960

57 G 157 =t 2

Q6 (IS wo[@ 12 B 5 WG P (3@ I@ T Qo ¢oNRICS 01 A& I @® I @l 1 901
57 fi=os =7 2

(a) 1:02 p.m. (b) 2:02 p.m. (c) 3:02 p.m. (d) 2:02 a.m.
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82. Which of the following is different from the other three ?
T (RPIFCG! SE fofbrets (el 2
el Tesio qifea 4

(a) Metre ™GR/MGR  (b) Inch 2f2s (c) Foot %0 (d) Gram &I
83. 2Kg + .iiiiiiiienn, g=5kg

2 T + SIS = 5 fpetais

2 T + SN = 5 ety

(a) 3 (b) 30 (c) 2 (d) 3000
84. 28750 -2Kg = coiiiiiiiiii, g

2875 S -2 16 AN = oo SISy

(a) 1250 (b) 875 (c) 1025 (d) 1125

85. How many triangles can be seen in this drawing ?
oot fral foas fewiee! fager o ez 2
> el fora I fage @i 2

(a) 3 (b) 5 (c) 6 (d) 7

86. 99-98+97-96+95-94+93-92 = .............

(a) 404 (b) 384 (c) 4 (d) 1
87. In the Roman numeration system, there are only .............. basic numerals.

QN FRY %GO TG .............. BI SN1gRe iR oy =g |

NI ALY A W ... IS ERINRIS PR Y

(a) 10 (b) 9 (c) 7 (d) 1

88. The difference between the smallest 2-digit number and the largest 1 digit numberis..................
w5l = g SBIReC I SR AIE @bl WS f[fR1E SAGIRCF e TG AL ...
w8 e ¥R IROIR00 (=6 A R 9T SRS (8 FABIZS T AL AL ...
(@) 19 (b) 1 (c) 98 (d) 10

89. 1,102 - 3,420 + 5,528 = ..ovovoveveee.
(a) 2,210 (b) 3,310 (c) 3,210 (d) 3,220
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90. Which of the following is true ?
ST (PN TS 2/ N (I oy 2

(a) A line has two end points (b) A line segment has two end points
QU (IS qo! 2% 7 @iy QU (ST VoI &A1 g =g |
@fo R Yo el =i @fo RIS 4o 2% 9 =i

(c) Both'a'&'b' (d) None of these
'a' I 'b' TN GO CRoE |
'a' @< 'b' 162 asioe 7

91. 985 X8 =i,
(a) 788 +10 + 8 (b) 700 + 80 + 8 (c) 7000 +80 + 8 (d) 7000 + 800 + 80

92. The smallest 4 digit number formed by using the digits 5,0,3,1,7 only once contains ..........

5,0,3,1,7 123 (35! (e QI KL IR 5107 DR 21 BTG ©1ed KRB SNGIEeis <6 SRRAIGM .
5,0,3,1,7 SR SN QI IR FE@ 910 FA0 {1 517 T [f*2 551809 26 AT ...

(a) 0inthousand place (b) 5inten place
0 &< T QfF 5 7239 T QB
0 3T FE MR 5 T FE A<
(c) 3inten place (d) 7 in unit place
3 7239 IK© QP 7 @39 199 QAP
3 =R B A< 7 G B ARE

93. The sum of the odd numbers between 5and 12 is ....................
5 I 12 T NSt Y[ HRRICIIS TS ...
5 @2 12 @< W& AT I ARSI oz ...
(a) 17 (b) 32 (c) 16 (d) 27

94. Which of the following is arranged in ascending order ?
OO (I BT (Y ?
TN @G SLe@E ST SR 2
(a) 3102, 3921, 4586, 4678, 9218 (b) 4678, 9321, 4586, 9218, 3102
(c) 6974, 8251, 9251, 4682, 3319 (d) 6318, 6218, 6183, 6182, 2168

95. Which of the following is a rectangle ?
SR (P! SFTOCFE ?
Ned @i el et ermersg 2

(a) (b) (c) / (d) Q
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96.

97.

98.

99.

100.

(16)

Each of the 3 blocks below has a star on 3 of its 6 sides

wete izl fofv5l B 6 61 F#ifds Reier 3 51 Hifde waiw oot =g |
e a3 aAfslh =7 6 5 I2d @@IE 3 b AR oRF v =iz |

What is the total number of stars that cannot be seen on the blocks as shown above ?

89qT BaiErs o REwFb a1 =gl 02 =ICg 2

TS viKefeTee (b S O S 2

(a) 2 (b) 4 (c) 5 (d) 9

171, 180, 189, 198, .....covvvernee. , The next number in the series is..............

171, 180, 189, 198, .............. A 2 IR .o |

171, 180, 189, 198, .............. TS HTIST IR .o |

(a) 206 (b) 190 (c) 210 (d) None of these
@b N2 / @08 7

(79.9 - 32.4) x10.3 = ...............

(a) 59.8 (b) 57.8 (c) 58.8 (d) None of these
@b N2 / @08 I

What is the difference between the place value and face value of 9 in 75,950 ?
75,950 © 9 T FF W o< TLRIF g 2A1<6 5 2
75,950 (S 9 @ BNI¥ I @2 HLRE TR 2/1ef< 6 2
(a) 0 (b) 891 (c) 999 (d) None of these
@b 7RY / aio8 7

The radius of a circle is 6 cm. What will be the measure of its diameter ?

@5l g8 [PTY 6 (2. 7T FWR AP W19 R 2

@l o8 TPIY 6 CIN. 22T 229 WO N9 9 2

(@) 8 cm. @M/ER (b) 10 cm. @MN/ERL (c) 12 cm. @f/E™  (d) 38 cm. @i/

XXX THE END XXX
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